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/%
<span id="gsh" data-title="GShell" data-author="sato@its-more.jp">
<meta charset="UTF-8">

<meta "viewport" content="width=device-width, initial-scale=1.0">
<link rel="icon" id="GshFaviconURL" href=""><!/-- place holder -->
<span id="GshVersion" hidden="">gsh--0.8.5--2020-11-22--SatoxITS</span>
<title id="GshTitle">GShell-0.8.5 by SatoxITS</title>

GshHeading">

"Metawindow"></div>

Gshsidebar” class*“sbsmebar“ style=""><div id="GshIndexer" style=""></div></div>

GshMain">
GshBanner" height="100px" onclick="shiftBG();">
="right"><note><a href="http://archive.gshell.org">GShell</a> version 0.8.5 // 2020-11-22 // SatoxITS</note></div>

<div alig
</div>
<span id="FeaturesView"></span>
*/

! Work { =
//<span id="Counter_WorkCodeSpan">
*

<detaxls open="true"><summary>Counter Watcher</sumary>
-~ Counter // 2020-1120 SatoxITS { -
<h2>Counter Watcher</h2>

<div i
Until

CountWatcher 1"><div class="NFrame"><div class="Number'>ElementId: <imput id="CounterId" class="CounterText Number" type="text" value="adswsc_countertext">
TuntilCount” type="text" value="80000"> <input id="untilCountLocalStorage" type="checkbox">LocalStorage

:  <span id="remainCount" ></span>

Current: <span id="lastCount” class="Number">00000</span>

i i " class="Number">00:00</span>

Interval

t id " class="Number2 Number" type="text" value="00" style="text-align:right;"> / <input id="Interval" class: Number Number" type="text" value="60">
<div id="ProgressBar" class="ProgressBar"><div id="Progress" class="Progress"></div></div> WebSurkit: <input id= kit" type= /input>0n</div>
</div>
</div>

<span id="DummyCounter" contenteditable="true">77777</span><br>

<style>

€keyframes Progressl00
from { width:100%;
to { width:0%; }

}

#ProgressBar {
margin:4px
margin-left:8px
xwidth:300px;
width:80%;
height:1dpx;
border:1px solid #228;
background-color:#228;

#Progress {
xxx-animation-name:Progress100;
xxx-animation-duration:60s;
margin: Opx;
paddin ;
xxwidth: 1ooz~
width:0%;
height:100%;
border: 0px;
background-color: #££££££80;
font-size:12px;
line-height:1.0;

Y

#CountWatcher_1 {
xpadding:T0px !important;
width:100% !important;
white-spac mportant;
overflow:scroll !important;
xxoverflow:hidden;

}
.NFrame {

i timportant;
padding: timportant;
padding-left:8px !important;
xxborder:1px dashed #228 !important;
display:block !important;
width:100% !important;
background-color:#404080£f !important;
font-family:Courier New !important;
white-space:pre !important;

}
-Number {
margin:2px !important;
Courier New !important;
font-size:12pt !important;
display:inline !important;
width:40pt
height:16pt
line-heigh
vertical-al
color:#fff
border: 1px
background-color:#404080££ !important;
xfont-weight:bold !important;
}
.Number2
width:20pt !important;
overflow:scroll !important;
.CounterText
width:180px !important;
Y
</style>
<script>

function reload(){
location.reload();

Y
function to02d(num){
num < 10
return '0' + num;
Yelse{
return num;

}

function timeHMS(){
.getHours();

d.getMinutes ()
d.getSeconds ()

Zeturn to02d(h) +

m

+ to02d(m) + ':' + to02d(s);

function CWatch_Init(){
suntil = localStorage.getItem('UntilCount');
if( 0 < suntil && suntil <= 100000 ){
untilCount.value = suntil;
untilCountLocalStorage.checked = true;
console.log('++ Set until:'+untilCount.value);

}

i
CWatch_Init();
function watchCounter(){
d = new Date();
m = d.getTime();
now = m / 1000;
lastTime.innerHTML = timeHMS() + '(' + now

counterId = CounterId.value;

cnt = document.getElementById(counterId);
i null ){

DummyCounter ;

count = parseInt(cnt.innerHTML);
until = parselInt(untilCount.value);
lastCount.innerHTML = coun
remain = until - count;
remainCount.innerHTML = remain;

i
var cwatch_gjlinked = false;
var sentCount = 0;
function sendCount(){

count rId = CounterId.v: i

= document. gEtElementById(counterld) ;
1f( cnt == null
cnt = DummyCounter;

count = parseInt(cnt.innerHTML);
console.log('++ sendCount:'+count);
CW_sendCountervalue (count) ;
console.log('++ sentCount:'+count);

}
function CW_sendCounterValue(count){
if( cwatch_gjlinked == false ){
GJ_Join()
cwatch_gjlinked = true;
}
msg = 'COUNTER '+count;
GJ_BcastMessage (msg) ;
//console.log(’SentCount: ' +count);

Y
function CWatch_Setup(){
if( cwatch_gjlinked == false ){
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GJ_Join();
cwatch_gjlinked = true;

}
function setuntilCount(){
nuntil = untilCount.value;
if( 0 < nuntil && nuntil <= 100000
localStorage.setTtem('UntilCount',nuntil);
Yelse{
nuntil = 80000;
untilCount.value = nuntil;

}
suntil = localstoraqe getItem('UntilCount');
ull ){

undef',
alert('setUntilCount: '+nuntil+' <- '+suntil);

untilCount.addEventListener('change',setUntilCount);
setNextWatch();
}

var intervalMs parseInt(Interval.value) * 1000;
var numProgress = 0;
var StartWatch = 0;
var NextWatch = 0;
var showProgressTimer = null;
function setNextWatch(){
d = new Date();
var now0 = d.getTime();
StartWatch = now0;
NextWatch = now0 + intervalMs;
if( showProgressTimer != null
clearTimeout (showProgressTimer);

showProgressTimer = window.setTimeout (showProgress,1000);
function showProgress(){

//now = d.getTime(); // now is overwritten in sendCount() !!!
nowl = d.getTime();
//console.log( ' ++1 now='+nowl);
if( sentCount < 1 ){
sentCount += 1;
sendCount () ;

}
//console.log('++1 now='+nowl);

remt = NextWatch - nowl;
perc = ((remt / intervalMs) * 100).toFixed(2);
//console.log('Progress = '+remt+'ms, '+perc+'s’);

numProgress += 1;

Progress.innerHTML = perc +
Progress.style.width = perc + ;
Elapsed.value = (remt / 1000).toFixed(0);

' ('+numProgress+')';

watchCounter () ;

remC = parselnt(remainCount.innerHTML);

if( remC <= 0
console.log('++ Finished remainCount:'+remC);
remainCount.innerHTML += ' (Reached)';
return;

}

showProgressTimer = window.setTimeout (showProgress,1000);
if( remt < 0

reload();
Y
fi = document getElementById('FeaturesView');
if( ull

£1.appendChild(CountWatcher 1) ;

window.addEventListener('load',setNextWatch);
untilCount.addEventListener('change',setNextWatch);
Interval.addEventListener('change’,setNextWatch);
</script>
<input id="Counter WorkCodeViewOpen" class="HtmlCodeViewButton" value="ShowCode">
class="HtmlCodeViewButton" value="Snapshot">
class="HtmlCodeViewButton" type="button" value="Signature">
<span id="Counter_ WorkCodeView"></span>
<script id="Counter_WorkScript">
function Counter_openWorkCodevView(){

function Counter_showWorkCode (){

showHtm1Code (Counter_WorkCodeView,Counter_WorkCodeSpan);

}
Counter_WorkCodeViewOpen.addEventListener ('click’,Counter_showWorkCode);

Counter_openWorkCodeView(); /// should be invoked by an event
</script>

</details>

<!-- Counter WorkCodeSpan } -->

%/ //</span>

//<i--

Work } =

BinB_WorkCodeSpan">

<detaxls><summary>srowser in Browser</summary>
- BinB // 2020-1119 SatoxITS { -->
<h2>Browser in Browser</h2>

<style>
</style>
<script>
var xhr = new XMLHttpRequest();
xhr.open('GET', '/gshell/gsh.go.html');
xhr.onreadystatechange = function () {
var DONE = 4; // readyState 4 means the request is done.
var OK = 200; // status 200 is a successful return.
if (xhr.readyState {
if (xhr.status
console. log (xhr.responseText);
// 'This is the output.
else{
console.log('Error: ' + xhr.status);
// Bn error occurred during the request.

}

}
}; // Send the request to xxx.php
//xhr.send(null);

</seript>

HtmlCodeViewButton" type="button" value="ShowCode">
Snapshot">
Signature">

button” valu
"button” value:

<span id: Binsjork(:odeview” ></span>

<script id="BinB WorkScript">
function BinB_openWorkCodeView(){
function BinB_showWorkCode (
showHtm1Code (BinB_WorkCodeView,BinB_WorkCodeSpan) ;

}
BinB_WorkCodeViewOpen.addEventListener('click',BinB_showWorkCode);

BinB openworkcodev1ew1), /// should be invoked by an event
</script>

</details>

<!-- BinB WorkCodeSpan } -->

*/ //</span>

//<!t

wWork }

<dtails>csummary>Topbar</summary>
---- Topbar // 2020-1008 SatoxITS { --.

<h2>Topbar</h2>
<inpu opbar_WorkCodeViewOpen" class

HtmlCodeViewButton" typs

<input id opbar_WorkOpenSnapshot" class="HtmlCodeViewButton" typ
<input id="Topbar WorkCodeSignature" class="HtmlCodeViewButton"
<span id="Topbar_WorkCodeView"></span>
</details>
<style>
#GshHeading {

displa

overlo

i
.ConfigIcon {
position:absolute;

width:32px;
height:32px;

}
.MetaWindow {

position:relative;
display:block;
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overflow:visible !important;
width:99.9%;

height:22px;

top:-22px;

border:1px solid #22a;
margin:Opx;
left:0.0%;
line-height
font-famil:
color:#fff;
font-size:12pt;
text-align:center;
vertical- allgn middle;
padding:
xxbackground -color:rgba(0,8,170,0.8);
background-color:#3ad861; xxx-PBlue;
vertical-align:middle;

.0;
eorgia;

}
.MetaWindow:hover {
color:#000;
border:1px solid #22a
background-color: rgba(zss 255,255,1.0);

Y

#GshBanner {
overflow:visible;
display:block;
width:100%;
height:100px;
left:inherit !important;

}

</style>

<script>

function Topbar_openWorkCodeView(){
function Topbar_showWorkCode (

showHtm1Code (Topbar_WorkCodeView, Topbar_WorkCodeSpan) ;

}
Topbar_WorkCodeViewOpen.addEventListener('click',Topbar_showWorkCode);

Topbar_openWorkCodeView() ;
function ConfigClick(){
if( 0 <= Affview.style.zIndex )

{
AffView.style.saved zIndex = AffView.style.zIndex;

AffView.style.zIndex = -1000;
Gshsidebar.style.zIndex = -1;
GshPerfMon.style.zIndex 1;

yelse(
//AffView.style.zIndex
Affview.style.zIndex = 1
GshSidebar.style.zIndex = 1;
GshPerfMon.style.zIndex = 1;
GMenu.style.zIndex = 10000000;

Affview.style.saved_zIndex;

}
console.log('Affzidex='+AffView.style.zIndex);

}
function Gshell initTopbar(){
GshTopbar . i = GshTitl

//<img id="ConfigIcon" class="ConfigIcon">

if( true ){

cfgi = document .createElement ( timg');

cfgi.id = 'ConfigIcon';

cfgi. setattribute('class’ ,'ConfigIcon');

GshTopbar . appendChild (cfgl);
cfgi.src = ConflgICON DATA;

//cfgi.style.zIndex = 10000000000;

//cfgi.addEventListener('click',ConfigClick);
GshTopbar .addEventListener ('click’,ConfigClick);

}

}

</seript>

<!-- Topbar WorkCodeSpan } -->
*/ //</s;an

/7<=

//<t-— Work {
//<span 1d-”Indexer _WorkCodeSpan">

<detaxls><su|nmary>1ndexer</summar

<h2>Indexer</h2>
id="Indexer WorkCodeViewOpen"
ndexer_WorkOpenSnapshot "

<input id="Indexer WorkCodeSignature" class="HtmlCodeViewButton"

<span id="Indexer_WorkCodeview"></span>

</details>
<style id="SidebarIndex">
#gsh {
display:block;
xxxoverflow:scroll !important;
#GshMain {
z-inde
position: relatlve,
displa:

width:80% !important;
left:19.5% limportant;

}
#Gsh51debar {

posltlon'relatlve timportant;
overflow:auto;

resize:both !important;
xxoverflow-y:hidden !important;
xxxheight:100px !important;
xxxdisplay:inline !important;
left:0px;

top:0px;
width:19.5%;

min-width:80px;

xxxheight:100% !important;

height:0px;

color:#£00;
xxbackground-color:rgba(64,64,64,0.5);
xxbackground-color :#DFE3EB; xxx-PBlue;
background-color :#eeeeee; xxx-PBlue;

}

#GshPerfMon {
position:relative;
display:block;
overflow:visible;

i ':meortant‘

font-size:9pt !important;
color:#£84;

}
#GshSidebar:hover {

Dverflow “x:ivisible !important;
background-color:rgba(255,255,255,0.7);
width:50%;

}

#GshIndexer {
z-index:0;
position:relativ
resize:both '1mportant'
height:100%;
left:0px;
top:0px;
scroll-behavior: overflow !important;
padding-left:dpt;
font-size:0. Sem; |
white-spac:
Totx-bachgronnd.. eotor: rgba(64 160,64,0.6)
color:#7794c6; xxx-PBlu
xxbackground-color: #DFEEB; scx-PBLue;
background-color:#eeeeee; xxx-PBlue;

g

0000000;
overflow-x:visible !important;
color:#000000 !important;xxx-PBlue;
xxxbackground-color : #FFFFFF ; xxx-PBlue;
background-color:rgba(255,255,255,0.7);
padding-right:Opx;

width:80%;

}

#GshIndexer:select {
color:#000000 !important;xxx-PBlue;
background-color : #FFFFFF ; xxx-PBlue;

.IndexLine {
font-size:8pt !important;
font-family:Georgia;
display:block;
xxx-color:#££f;
xxx-color:#eff1£5; xxx-PBlue;
xxx-color:#41516d; xxx-PBlue;
xxx-color:#7794c6; xxx-PBlue;
padding-right:dpt;

}
.IndexLine:hover {
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button”
button”

"ShowCode">
"Snapshot">

onospace, Courier New !important;

timportant;

type="button" value="Signature">
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font-size:10pt!important;

xxx-color:#228;

xxx-background-color: #£££;

xxxcolor:#£££; xxx-PBlue;

color:#516487; xxx-PBlue;
background-color:rgba(220,220,255,1.0) ; xxx-PBlue;
xxxtext-shadow: 1px lpx #3f3;

text-shadow:1px 1px #eee;
xxxbackground-color:#516487; xxx-PBlue;
xxtext-decoration:underline !important;

)
</style>

<script id="Indexer WorkScript">
function Indexer openWorkCodeView(){
function Indexer showWorkCode (
showHtmlCode (Indexer WorkCodeView,Indexer WorkCodeSpan);

Indexer WorkCodeViewOpen.addEventListener('click',Indexer_showWorkCode);

}
//Indexer_WorkCodeViewOpen.addEventListener('click',Indexer_openWorkCodeView);
Indexer_openWorkCodeView();

var startPerfDate = new Date();
var prevPerfDate = startPerfDate;
function ShowResourceUsage(){

d = new Date();

perf = '';

perf '<'+'font colo: ">UA:' + window. na\ugator userAgent +'<'+'/font><br>\n
perf Dateshorto(startPerfDate) + '<br>\n

perf += DateShort() + '<br>\n'

elps = d.getTime() - startPerfDate.getTime();

itvl = d.getTime() - prevPerfDate.getTime();
'Elapsed: ' + elps/1000 + ' s<br>\n'

rf ‘Skew: ' + (itvl-1000) + ' ms<br>\n';
prevPerfDate =d;

if( performance memory !
= performance.memory;
mun (m0.usedJSHeapSize / 1000000.0); //.toFixed(6);
perf ‘Memory: '+mu0+' MB<br>\n';

undefined ){

perf += '<br>\n';

//GshSidebar.innerHTML = perf;
GshPerfMon.innerHTML = perf;

//GshIndexer.innerHTML = 'Memory: '+mu0+' MB';
//console.log('-- PerfMon heap: '+mu0+'/'+m0.totalHeapSize+'/'+m0.jsHeapSizeLimit);
if( true ){

GshSidebar.style.zIndex

GshIndexer.style.zIndex

GshPerfMon.style.zIndex

//Gshsidebar. appendchlld(GshPerfMon) ;

if( document.getElementById('primary') == null ){ // not in WordPress
/1 GshPerfMon.style.position = 'absolute’;

}

GshPerfMon.style.display = 'block’;

GshPerfMon.style.marginLeft = '4px';

//GshPerflon.style.top = '45px';
GshPerfMon.style.position = 'relative';
//GshPerfMon.style.position = 'absolute';
//topy = ingClientRect ().top;
//topy = parselnt(topy) + 40;

GshPerfMon.style.top = topy + 'px';
GshPerfMon.style.left = 'Opx';

GshMain.style.top = -GshPerfMon.getBoundingClientRect().height;

Y

function ResetPerfMon()
GshPerfMon.removeAttribute('style’);
GshSidebar.removeAttribute('style');

}

var iserno =
var Generatedld = 0;
function generateIndex(ni,e,chv,nch,ht){

// https://developer. mozilla. org/en—US/docs/Web/API/Element

if( e.classList I= null ){
c = e.classList.value;

<'+e.nodeName+'> #'+e.id+' .'+c+' '+e.attributes);
‘#text' ){ return '’
if( e.nodeName ‘#comment' ){ return ''; }
if( e.nodeName 'H2' || e.nodeName == 'H3' ){
id = e.innerHTML;
GeneratedId +=
i 'Genratedld- ‘+GeneratedId;

}
//console.log(
if( e.nodeName =

yelse
if( e.nodeName 'SUMMARY' ) {

id = e.innerHTML;

GeneratedId += 1;
'GenratedId-'+GeneratedId;

eid
e.id = eid;

Yelse

if( and(e.nodeName 'DIV',c=='XXXXXXXXXXXXKXXXXXentry-content') ){
console.log('-- DIV entry-content begin');

id = e.innerHTML;
GeneratedId += 1;
eid 'GenratedId-'+GeneratedId;

id = eid;
Gonsole.log( '~ DIV entry-content end hash-child=',e.haschildNodes());

Jelse

if( e.id == "' || e.id =
return '

Yelse{
i

‘undefined' ){

'#'+e.id;
eid e.id;

ht = '<'+'div id="GenaratedEref '+iserno+'" class="IndexLine" href="'+eid+'"
+ iserno+' '+ni+':'+e.nodeName + ':' + id;
if( e.id == '' || e.id == 'undefined' ){ return ht + '<'+'/div> }

if( te.hasChildNodes() ){ return ht + '<'+'/div>'; }
chv = e.childNodes;
nch = e.childNodes.length;
if( chy 1= null ){ nch = chv.length; }
ht += ' (‘4nch+')’ + '<'+'/div>';
for( let i = 0; i < chv.length; i++ ){
sec = ni+'.'+i;

ht += generateIndex(sec,chv[i],null,0);
}
return ht;

function onClickIndex(e){

id = e.target.id;
document . getElementById(tid);
tge.getAttribute( 'href’);
rx = tge.getBoundingClientRect().left.toFixed(0)
ry = tge.getBoundingClientRect().top.toFixed(0)

+ eid +
'+ tge.outerHTML);

documem: getElementById(eid);
an’

ee. getBoundlngCl1entRect() top;
console log( "' Sy="+sy);

ee. scrollInto\hew()

window.scrollTo(sx,sy)

//window.scrollTo({left: 'Non',top:sy,behavior: 'smooth'});

Y

function Indexer afterLoaded(){
sideindex = document. getElementById( GshIndexer');

ht = '<'+'h3>G-Index<'+'/h3>';

generateIndex("", document getElementByld("' gsh ) null,o,

if( (pri = document.getElementById('primary’)) ! )1

ht += generateIndex("",pri,null,0,'");

sideindex.innerHTML = ht
sideindex. addEventLlstener( click',onClickIndex);

if( (pri = document.getElementById('primary')) != null ){
console.log('-- Seems in WordPress'
pri.style.zIndex = 2000;

GshSidebar.style.setProperty(’ position' ,'relative’,'important');
GshSidebar.style.top = '-1400px’;

//Gshsidebar.style. setPrcperty( position’,'absolute’,’important’);
//Gshsidebar.style.top = 'Opx';

GshSidebar.style.setProperty( width', '200px’, 'important’);
GshSidebar.style.setProperty(’overflow’, 'scroll’, 'important’);
GshSidebar.style.resize = 'both';

GshSidebar.style.left = '-100px’;
GshIndexer.style.left = '100px’;
GshIndexer.style.height = '1400px’;
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gsh.appendChild(GshSidebar); // change parent

Yelse{
console.log('-- Seems not in WordPress');
Gshsidebar.style.setProperty('position’, fixed','important');

N }
//document . addEventListener('load', Indexer_afterLoaded);

DestroyIndexBar = function(){
sideindex = document. qetElementById( GshIndexer');
sideindex.innerHTML =
sideindex.style = "";

}

</script>

<!-- Indexer WorkCodeSpan } -->

*/ //</span>

//<1-= = Work } - >

/%
<h2>GShell // a General purpose Shell built on the top of Golang</h2>
<p>

<note>
It is a shell for myself, by myself, of myself. --SatoxITS(“-

<a href="gsh-0.6.2.go.html">prev.</a>

</note>

</p>

<div id="GJFactory x"></div>

<div>

<span id="GshMenu" class="GshMenu">

<span el id html_edit();">Edit</span>
<span id " i html_save();">Save</span>
<span ia i html load();">Load</span>
<span id= i html_ver0(); ">Vers</span>

<span >0</span>

<span gsh»menu exit" onclick="html_close();"></span>

<span gsh-menu-fork" onclick="html fork();">Fork</span>

<span i html_stop(this,true);">Stop</span>
<span html_fold(this);">Unfold</span>
<span id="gsh-menu-cksum" onclick="html_digest();">Digest</span>
<span id="GshMenusign" onclick="html_sign(this ">Source</span>
<!-- | <span id="gsh-menu-pure" onclick="html_pure(this);">Pure</span>

</span>

</div>

*/

/%

<details id="Gshstat t" class="gsh " 3’ /summary>

<h3>Fun to create a shell</h3>

<p>For a programmer, it must be far easy and fun to create his own simple shell
rightly fitting to his favor and necessities, than learning existing shells with
complex full features that he never use.

I, as one of programmers, am writing this tiny shell for my own real needs,

totally from scratch, with fun.

</p><p>

For a programmer, it is fun to learn new computer languages. For long years before
writing this software, I had been specialized to C and early HTML2
Now writing this software, I'm learning Go language, HTMLS, JavaScript and CSS

on demand as a novice of these, with fun.

</p><p>

This single file "gsh.go", that is executable by Go, contains all of the code written
in Go. Also it can be displayed as "gsh.go.html" by browsers. It is a standalone
HTML file that works as the viewer of the code of itself, and as the "home page" of
this software.

</p><p>

Because this HTML file is a Go program, you may run it as a real shell program

on your computer.

But' you must be aware that this program is written under situation like above.
Needless to say, there is no warranty for this program in any means

<address>Aug 2020, SatoxITS (sato@its-more.jp)</address>
</details>
*/

/%
<details i
</p>

GshFeatures" class="gsh t"><summary>Features</summary><p>

<h3>Cross-browser communication</h3>
<p>

... to be written ...

</p>

<h3>Vi compatible command line editor</h3>

<p>

The command line of GShell can be edited with commands compatible with

<a href="https://www.washington.edu/computing/unix/vi.html"><b>vi</b></a>.
As in vi, you can enter <i><b>command mode</b></i> by <b>ESC</b> key,
then move around in the history by <b><code>j k / ? n N</code></b>,

or within the current line by <b><code>l h f w b 0 $ ¥</code></b> or so.

</p>
</details>
*/

/*
<details id="gsh-gindex">
<summary>Index</summary><div class="gsh-src">
Documents
<span class="gsh-link" oncli
Go lang part<span class="g:
Package structures
<a href="#import">import</a>
href="#struct">struct</a>
Main functions
4comexpansion”>str-expansion</a> // macro processor
Zfinder">finder</a> // builtin find + du

ck="jumpto_JavaScriptView();">Command summary</span>
sh-src" onclick="document.getElementById('gsh-gocode').open=true;">

<a fqrep">grep</a> // builtin grep + we + cksum + ...
<a plugin’>plugin</a> /7 plugin commands

<a ex // external commands

<a "#builtin">builtin</a> // builtin commands

<a network">network</a> // socket handler

h">remote-sh</a> // remote shell
i // stdIn/Out redireciton

tory">history</a> // command history

<a rusage”>rusage</a> // resouce usage
<a // encode / decode
<a FIME">IME</a> // command line IME
<a fgetline">getline</a> // line editor
<a scant">scant</a> // string decomposer
<a Finterpreter">interpreter</a> // command interpreter
<a fmain"omain</a>
</span>
JavaScript
e st-src-view" class="gsh-link" onclick="jumpto_JavaScriptView();">Source</a>
<a href—"fgsh-data-frame’ class—"gsh-link" onclick="jumpto_Dataview();'>Builtin data</a>
Css part
<a href="#style-src-view" class="gsh-link" onclick="jumpto_Styleview();">Source</a>
References
<a href="#" class="gsh-link" onclick="jumpto_WholeView();">Internal</a>
<a href="#gsh-reference’ class="gsh-link" onclick="jumpto_ ReferenceView();">External</a>
Whole parts
<8 bref-'#uhole-sro-vieu! class=gsh-Link! onclick umpto_WholeView();">Source</a>
<a href= 1 class="gsh-link" onclick="jumpto WholeView();">Download</a>
<a hre Clase-"geh-link" onclicke"Jumpto WholeView();">bamp</as
</div>
</details>
*/

//<details id="gsh-gocode">

//<summary>Go Source</summary><div class="gsh-src" onclick="document.getElementById( 'gsh-gocode').open=false;">

// gsh - Go lang based Shell
// (c) 2020 ITS more Co. td.
// 2020-0807 created by SBtoxITS (sato@its-more.jp)

package main // gsh main

// <a name="import">Imported packages</a> // <a href="https://qolang.orq/pka/">Packages</a>
import (

"fmt" // <a href="https://golang.orq/pkg/fmt/">fmt</a>
"errors"”

"strings"  // <a tps://golang.org/pkg/strings/">strings</a>
"strconv"  // <a tps://golang.org/pkg/strconv/">strconv</a>
"sort" // <a tps://golang.org/pkg/sort/">sort</a>

"time" // <a tps://golang.org/pkg/time/">time</a>
"bufio” // <a tps://golang.org/pkg/bufio/ ">bufio</a>
"io/ioutil" // <a ps://golang.orqg/pkg/io/ioutil/ ">ioutil</a>
"os" /1 <a ps://qgolang.orq/pkg/os/">0s</a>

"syscall" // <a ps://golang.org/} 7quscall/ >syscall</a>
"plugin” // <a ps://golang.org/pkg/plugin/ ">plugin</a>
"net” // <a ps://golang.org/pkg/net/">net</a>
"net/http" // <a ps://golang.org/pkg/net/http/">http</a>
//"html" ps://golang.org/pkg/html/">html</a>

1/

"path/filepath" // <a href= "https'//golanq rq/pkq/path/filepath/">filepath</a>
"go/types” // <a href="https://golang.orq/pkq/qo/types/">types</a>

"go/token" // <a href="https://golang.orq/pkq/qo/token/">token</a>
"encoding/base64"  // <a href="https://qgolang.orq/pkg/encoding/base64/">base64</a>
"unicode/utf8" // <a href="https://golang.org/pkq/unicode/utf8/">utf8</a>
//"gshdata" // gshell's logo and source code

"hash/crc32" // <a href="https://golang.org/pkg/unicode/hash/crec32/">crec32</a>
"golang.org/x/net/websocket "
"runtime"

/%
#include <stdio.h> // </stdio.h> to be closed as HTML tag :-p
#ifdef _WIN32

#include <windows.h> // </windows.h>

view-source:http://im3/gsh/gsh-0.8.5.go.html
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// 2020-1022 added -- terminal mode on Windows
// https://docs.microsoft.com/en-us/windows/console/setconsolemode
// https://docs.microsoft.com/en-us/windows/win32/inputdev/using-keyboard-input
int setTermRaw(){

HANDLE hStdin = GetStdHandle(STD_INPUT_HANDLE);

DWORD tmode = 0;

if( GetConsoleMode (hStdin,&tmode) ){

DWORD xmode = tmod:

~ENABLE_ECHO_INPUT;
~ENABLE_LINE_INPUT;
= ENABLE_PROCESSED_INPUT; // Control+C for SIGINT
if( SetConsoleMode (hStdin,xmode) ){

return tmode;
}

}
return 0;

int setTermMode(int tmode){
HANDLE hStdin = Getstdﬂandle(STD INPUT_HANDLE) ;
SetConsoleMode (hStdin, tmode)
return 0;

i

#else

int setTermRaw(){
return -1;

Y
int setTermMode(int tmode){
return 0;

}

#endif

*/

import "C"

/%
/1 // 2020-0906 added,

// // <a href="https://golang.org/cmd/cgo/">CGo</a>

// #include poll 77 <poll.h> // </poll.h> to be closed as HTML tag :-
// typedef struct { struct pollfd fdv[8]; } pollFdv;

// int pollx(pollFdv *fdv, int nfds, int timeout){

// return poll(fdv->fdv,nfds,timeout);

1/

import "c"

// 2020-1021 replaced poll() with channel/select
// 17 2020-0906 added,
func CFpolllnl(fp*os.File, timeoutUs int)(ready uintptr)({
var fdv = C.pollFdv{}
var nfds = 1
var timeout = timeoutUs/1000

£dv.£dv[0].fd = C.int(£p.Fd())
fdv.fdv([0].events = C.POLLIN
if( 0 < EventRecvFd ){
fdv.fdv([1].fd = C.int(EventRecvFd)
fdv. fdv[l].events = C.POLLIN

nfds
}
r := C.pollx(&fdv,C.int(nfds),C.int(timeout))
if(r <=0 ){
return 0
}
if (int(fdv.fdv(l].revents) & int(C.POLLIN)) != 0 {
//fprintf (stderr,"--De-- got Event\n");
return uintptr(EventFdOffset + fdv.fdv[1].£d)
}
if (int(fdv.fdv[0].revents) & int(C.POLLIN)) != 0 {
return uintptr(NormalFdOffset + fdv.fdv[0].fd)
}
return 0
}
*/
const (
NAME = "
VERSION = "0.8.5"
DATE = "2020-11-22"
AUTHOR = "SatoxITS("-")//"
var

(
GSH_HOME = ".gsh" // under home directory
GSH_PORT = 9999

MaxStreamSize = int64(128¥1024+1024%1024) // 128GiB is too large?

PROMPT = ">
LINESIZE = (8%1024)
PATHSEP // should be n Windows

i
DIRSEP = "/" // canbe \ in Windows
OnWindows = false;

)
func LnLthhEnv()(
if( runtime.GOOS
PATHSEP
DIRSEP = \\
OnWindows = true;
yelse{
}

"windows" ){

// -xX logging control
/- all

info.

debug

time and resource usage
warning

error

F-- fatal error

Xn- network

// <a name="struct">Structures</a>

// 2020-1022 Unix/Windows
/

/

//type aStat_t syscall.Stat t;

//type astat_t struct { syscall.Stat t }
type aStat_t struct {

size int64
Mode os.FileMode
Rdev int64

Blocks int64
Nlink  int64

}
func aLstat(path string, astat *aStat_t)(error){
/%

syscall.Stat_t{};

:= syscall.Lstat(path,&sstat);
*astat = aStat_t(sstat);
*/

os.Stat(path);
nil ){

astat.Mode
astat.Size

= fi.Mode();
= fi.size();
return err;

}
func aFstat(fd int, astat *aStat_t)(error){
/*

ss:a: syscall.Stat_t{};
syscall.Fstat(fd,&sstat);

er:
Caeear o aStat_t(sstat);
*/

err := errors.New("NotImplemented-Fstat");
//fmt.Printf(" - fstat(%v)(%v)\n", £d,err);
return err;

Y
func aAccess(path string, mode uint32)(error){
:= syscall.Access (path,mode);
errors.New("NotImplemented-Access");
fi,e os.Stat (path)
//fmt Printf( Access (%v,%v)\n(%v)\n",path,mode,err);

£i.Mode();

if( (u1nt32(perm) & mode)
return nil;

0 )¢

return errors.New("NotAccessible");
return errors.New("NotRegularFile");
return err;

// 2020-1022 Umx/wmdows

type aRusage struct {
syscall.Rusage

Utime time.Duration
Stime time.Duration
//sys interface{}

/%
const aRUSAGE_SELF = syscall.RUSAGE_SELF
const aRUSAGE _ CHILDREN = syscall.RUSAGE_CHILDREN

const aRUSAGE_SELF = 0
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const aRUSAGE_CHILDREN = 1
func aGetrusage(sel int, ru *aRusage){
/*

sysru := syscall.Rusage{};
syscall.Getrusage(sel,&sysru);
ru.Utime = time.Duration(int64(sysru.Utime.Sec)*1000000000+int64 (sysru.Utime.Usec)*1000);
ru.Stime = time.Duration(int64(sysru.Stime.Sec)*1000000000+int64 (sysru.Stime.Usec)*1000);
*/

Y
func asetrusaqe(ru *aRusage, ps *os.ProcessState){
= ps.UserTime();
ru. Stlme = ps.SystemTime();

func shcwRusaqe(what string,argv []string, ru *aRusage){
fmt.Printf ,what) ;
//fmt. lentf( Usr=%d.$06ds", ru.Utime.Sec, ru.Utime.Usec)
ys=2d.%06ds", ru.Stime.Sec, ru.Stime.Usec
d.%06ds ", ru.Utime/1000000000, (ru.Utime/1000)31000000);
fmt.Printf(" Sys=%d.206ds ",ru.Stime/1000000000, (ru.Stime/1000)%1000000);

I
fmt.Printf(" Rss=%VvB",ru.Maxrss)
if isin("-1",argv
fmt.Printf(” v",ru.Minflt)
fmt.Printf(" V", ru.Majflt)
fmt.Printf(" IXRSS=3vB",ru.Ixrss)
£t . Printf (" $vB", ru.Idrss)
£mt.Printf (" $vB" , ru.Nswap)
£mt.Printf(" Read=%v",ru.Inblock)
£mt.Printf(" Write=$v",ru.Oublock)
}
fmt.Printf(" Snd=%v",ru.Msgsnd)
fmt.Printf(" Rcv=%v",ru.Msgrcv)
//if isin("-1",argv)
fmt.Printf(" Sig=v",ru.Nsignals)
/1y
*/

fmt.Printf("\n");

type GCommandHistory struct {

startat time.Time // command line execution started at

EndAt time.Time // command line execution ended at

ResCode int // exit code of (external command)

CmdError  error // error string

outData *0s.File // output of the command

FoundFile []string // output - result of ufind

Rusagev [2]aRusage // Resource consumption, CPU time or so

cmd1d int // maybe with identified with arguments or impact
// redireciton commands should not be the CmdId

WorkbDir string // working directory at start

WorkDirX int // index in ChdirHistory

CmdLine string // command line

}
type GChdirHistory struct {

Dir string
MovedAt time.Time
CmdIndex int

}
type CmdMode struct {
BackGround bool

}

type Event struct {
when time.Time
event int
evarg int64

CmdIndex int

i

var CmdIndex int

var Events []Event

type plugmrnfo struct {
*plugin.Plugin

e plugin.Symbol
Name string // maybe relative
Path string // this is in Plugin but hidden
}
type GServer struct {
string
port string

// <a href="https://tools.ietf.org/html/rfc3230">Digest</a>
const ( // SumType
SUM_ITEMS = 0x000001 // items count
SUM_SIZE = 0x000002 // data length (simplly added)
SUM_SIZEHASH 0x000004 // data length (hashed sequence)
SUM_DATEHASH 0%000008 // date of data (hashed sequence)
// also envelope attributes like time stamp can be a part of digest
// hashed value of sizes or mod-date of files will be useful to detect changes

SUM_WORDS = 0x000010 // word count is a kind of digest

SUM_LINES = 0x000020 // line count is a kind of digest

SUM_SUM64 0x000040 // simple add of bytes, useful for human too
SUM_SUM32_BITS = 0x000100 // the number of true bits

SUM_SUM32_2BYTE
SUM_SUM32_4BYTE
SUM_SUM32_8BYTE

0x000200 // lébits words
0x000400 // 32bits words
0x000800 // 64bits words

SUM_SUM16_BSD 0%001000 // UNIXsum -sum -bsd
SUM_SUM16_SYSV 0%002000 // UNIXSum -sum -sysv
SUM_UNIXFILE = 0x004000

SUM_CRCIEEE = 0x008000

)
type CheckSum struct {
i int64  // the number of files (or data)

size int64  // content size
Words int64  // word count
Lines int6é4  // line count
sunType int

sSum64 uint64

Crc32Table crc32.Table
Cre32val uint32

Suml6 int

Ctime time.Time
Atime time.Time
Mtime time.Time
start time.Time
Done time.Time

RusgAtStart [2]aRusage
RusgAtEnd  [2]aRusage
}
type ValueStack [][]string
type GshContext struct {

StartDir string // the current directory at the start

GetLine string // gsh-getline command as a input line editor
ChdirHistory []GChdirHistory // the lst entry is wd at the start
//gshpa syscall.ProcAttr

gshPa 05.ProcAttr

CommandHistory [ ]GCommandHistory
CmdCurrent GCommandHistory
BackGround bool
[]os.Pr tate; //[lint
LastRusage aRusage
GshHomeDir string
Terminalld int
CmdTrace  bool // should be [map]

CmdTime bool // should be [map]

PluginFuncs []PluginInfo

ivalues []string

iDelimiter string // field sepearater of print out
iFormat string // default print format (of integer)

ivalStack ValueStack
LastServer Gserver
RSE string // [gsh://]host[:port]
string // remote (target, there) working directory
1astCheckSum CheckSum
Y

func nsleep(ns time.Duration){
time.Sleep(ns)

func usleep(ns time.Duration){
nsleep(ns*1000)

func msleep(ns time.Duration){
nsleep(ns*1000000)

func sleep(ns time.Duration){
nsleep(ns*1000000000)

func strBegins(str, pat string)(bool){
if len(pat) <= len(str){
yes := str[0:len(pat)]
//fmt.Printf("--D-- strBeglns(%v,%v) =%v\n",str,pat,yes)
return yes

}
//fmt . Printf(
return false

- strBegins(%v,%v)=%v\n",str,pat,false)

Y
func isin(what string, list []string) bool {
or _, v := range list
If v == what {
return true

}

}
return false

view-source:http://im3/gsh/gsh-0.8.5.go.html
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}
func isinX(what string,list[]string)(int){
{

for range list
= what {
return i
}
return -1

func env(opts []strxng) {
en

func(i,j int) bool {
return env[i] < env[j]

for _, v range env
fmt.Printf("sv\n",v)

// - rewriting should be context dependent
// - should postpone until the real point of evaluation
// - should rewrite only known notation of symobl
func scanInt(str string)(val int,leng int){
leng = -1
for i,ch := range str {
if 0 ch & ch <=

}

if 0 < leng {
iva strconv.Atoi(str[0:leng])
return ival,leng

else
return 0,0

func substHistory(gshCtx *GshContext,str string,i int,rstr string)(leng int,rst string){
if len(str[i+l:]) 0 {
return 0,rstr

}
hi =0
histlen := len(gshCtx.CommandHistory)
if str(i+l] == 't' {
hi = histlen - 1
leng = 1
yelse{
hi,leng = scanInt(str{i+l:])
if leng == 0 {

return 0,rstr

}
if hi <0 {

hi = histlen + hi
}

}
if 0 <= hi && hi < histlen {
var ext byte
if 1 < len(str[it+leng:]) {
ext = str[i+leng:][1]

}
//fmt. Prlntf("
if ext
leng
xlist [)string{}
list gshCtx.CommandHistory[hi].FoundFile
for _,v := range list
7/1ist[i] = escapeWhiteSP(v)
xlist = append(xlist,escapeWhiteSP(v))

-- %v(%c)\n",str[i+leng:],str[i+leng])

}
//rstr += strings.Join(list," ")
rstr += strings.Join(xlist," ")

ext
workdir at the start of the command

= gshCtx.CommandHistory[hi].WorkDir

rstr += gshCtx.CommandHistory[hi].CmdLine
)els;(
leng = 0
return leng,rstr
%unc escapeWhiteSP(str string) (string){

if len(str)
return "\\z" // empty, to be ignored

= range str {
Switch ch {

case '\\': rstr + "\\\\”
e ' ! rstr +
case '\t rstr +=
case '\r': rstr +=
ase '\n': rstr +=
Gefault: rets a- string(ch)

}
return rstr
func unescapeWhiteSP(str string)(string){ // strip original escapes

it {

if i+1 < len(str) {
switch str[i+1] {
case 'z’
continue;

}

}

rstr += string(ch)

}
return rstr
}
func unescapeWhiteSPV(strv []string)([]string){ // strip original escapes
[1string{}
for _,v := range strv
Ustrv = append(ustrv,unescapeWhiteSP(v))

}
return ustrv

// <a name="comexpansion”>str-expansion</a>
// - this should be a macro processor
func strsubst(gshCtx *GshContext,str string, histonly bool) string {
rbuff := []byte{}
if false {
//€€U Unicode should be cared as a character
return str
}
//rstr "
inESC
for

0 // escape characer mode
0; i < len(str); i++
//fmt Printf("--D--Subst %v:%v\n",i,str{i:])

{
//leng,xrstr : substHistory (gshCtx,str, i, rstr)
leng,rs := substHistory(gshCtx,str,i,"")
if 0 < leng
/1 substHistory|gshctx,str,i,
rbuff append (rbuff, [ Jbyte(rs)...)
et
//rstr = xrstr
continue

")

¥

}
switch ch {

case '\\' '; continue
//case '% $'; continue
case '$':

switch inEsc {
case '\\':

switch ch {

case '\

case 's

case 't

case 'r

case 'n

case 'z

//rstr = rstr + time.Now().Format (time.Stamp)
time.Now().Format (time.Stamp)
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rbuff = append(rbuff,[]byte(rs)..
inEsc = 0

continue;
default:
// postpone the interpretation
/rstr = rstr + "%" + string(ch)
rbuff = append(rbuff,ch)
inEsc = 0
continue;

inEsc = 0

//rstr = rstr + string(ch)
rbuff = append(rbuff,ch)

}
//fmt.Printf("--D--subst(%s)(¥s)\n",str,string(rbuff))
return string(rbuff)

//return rstr

}
func showFileInfo(path string, opts []string) {
if isin("-1",opts) || isin("-1s",opts) {

i os.Stat(path)

rr 1= nil {

£t . Printf("---------- ((8v))",err)
else{

mod := fi.ModTime()

mod. Format (time.Stamp)
fmt.Printf("sv %8v %s ",fi.Mode(),fi.Size(),date)
}

}

fmt.Printf("¥s",path)

if isin("-sp",opts) {
fmt.Printf(" ")

else

if | isin("-n",opts) {
fmt.Printf("\n")

}

func userHomeDir () (string,bool){
/%
homedir, = os.UserHomeDir() // not implemented in older Golang
*/

homedir, found

©0s.LookupEnv ( "HOME" )
- HOME=%v(%v)\n", homedir, found)

{
return "/tmp", found

}
return homedir, found

}

func toFullpath(path string) (fullpath string) {
if path[0] WARRY
return path

}
pathv := strings.Split(path,DIRSEP)
switch {
case pathv[0]
pathv[0],
case pathv[0]

os.Getwd()

": // all ones should be interpreted
os.Getwd()
strings.Split(cwd,DIRSEP)
strings.Join(ppathv, DIRSEP)

ppathv

pathv[0]
case pathv[0]

pathv(0],_
default:

userHomeDir ()

cwd, _ := os.Getwd()
pathv(0] = cwd + DIRSEP + pathv[0]

return strings.Join(pathv,DIRSEP)
Y

func IsRegnle(path stnnq)(bool)(
s .Stat (path
1 (
f -Mode ()
roturn fm. IsRegular();

if err

return false

// <a name="encode">Encode / Decode</a>

// <a href="https://golang.org/pkg/encoding/base64/#example
func_(gshCtx *GshContext)Enc(argv(]string){

os.Stdin

make ([ ]byte, LINESIZE)

ewEncoder ">Encoder</a>

base64.NewEncoder (base64 . StdEncoding, os. Stdout)

"
file.Read(buff)
{

if err I= nil {
break
encoder.Write(buff[0:count])

encoder.Close()

func (gshCtx *GshContext)Dec(argv(]string){
ler := base64.NewDecoder (base64.StdEncoding,os.Stdin)
0

make ([ ]byte, LINESIZE)

count, err := decoder.Read(buff)
if count <= 0 {
break

if err
break

nil {

o0s.Stdout.Write(buff[0:count])
}

}

// 1nsp [N] [-crlf][-C \\]
func (gshCtx *GshContext)SplltLlne(argv[]strlng){
isin("-str",argv) //
bufio.NewReaderSize (os. Stdln 64%1024)

0; ; ni++ {
reader.Readstring('\n')
04

if len(line)

if err I= nil
fmt.Fprintf (os.Stderr,"--I-- lnsp %d to ®d (%v)\n",ni,toi,err)
break

len(line)

remlen := len(line

1£ strRep ( os. Stdout erte([]byte(”\” "))}
mlen;

}
Emt.Fprintf(os.Stderr,"--D-- write td [¢d.td] ®d $d/3d/3d\n",
toi,ni,oi,off,olen,remlen,ilen)

toi 4= 1
os.Stdout.Write([]byte(line[0:olen]))
if addnl {
if strRep {
os.Stdout.Write([]byte("\"+\n\""))
Yelse{

//os.stdout.Write([]byte("\r\n"))

os.Stdout.Write([]byte("\\"))

os.Stdout.Write([]byte("\n"))

}

}
line = line[olen:]
off += olen
remlen -= olen

o,
2

}
if strRep { os.Stdout.Write([]byte("\"\n")) }

}
fmt.Fprintf(os.Stderr,"--I-- lnsp %d to %d\n",ni,toi)

// CRC32 <a href="http://golang.jip/pkg/hash-crc32">crc32</a>

// 1 0000 0100 1100 0001 0001 1101 1011 0111

var CRC32UNIX uint32 = uint32(0x04C11DB7) // Unix cksum

var CRC32IEEE uint32 = uint32(0xEDB88320)

func byteCRC32add(crc uint32,str([]byte,len uint64)(uint32){
var oi uint64

for oi = 0; oi < len; oi++ {
var oct = str[oi]
for bi := 0; bi < 8; bi++

+ {
//fprints (stderr,"--CRC32 d %x (%d.%d)\n",crc,oct,o0i,bi)
(crc & 0x80000000)

= (oct & 0x80) != 0
(ovfl && lovf2) || (lovfl && ovf2)
1

crc <<=
if ovf { crc “= CRC32UNIX }

9/89 2020/11/22 1:03



http://im3/gsh/gsh-0.8.5.go.html

10/ 89

Y
func byteCRC32end(crc uint32,
var slen = make([]byte,4)
var li
for 1i = 0; 1i < 4; {
slen[li] = byte(len)
1

}
func StrCRC32(str string,len uint64)(crc uint32){

}

}
//fprintf(stderr,"--CRC32 return %d %d\n",crc,len)

return crc;

crc "= 0XFFFFFFFF
return crc

byteCRC32add (0, [ ]byte(str),len)
byteCRC32end(crc, len)
//fprintf(stderr,"--CRC32 %d %d\n",crc,len)
return crc

Y
func CRC32Finish(crc uint32, table *crc32.Table,

}

var slen = make([]byte,4)
var 1i = 0
for 1i = 0; 1i < {
slen[li] = byte(len & OxFF)

1li +=1

cre = crc32.Update(crc, table,slen)
crc "= O0XFFFFFFFF
return crc

len uint64)(uint32){

len uint64)(uint32){

func (gsh*GshContext)xCksum(path string,argv[]string,

func (gsh*GshContext)xGrep(path string,rexpv[]string)(int){

//
//
1/
/1
1/
/7

if isin("-type/f",argv) && !IsRegFile(path){
return 0

}
if isin("-type/d",argv) && IsRegFile(path){
return

0s.OpenFile(path,0s.0_RDONLY,0)
nil {
fmt.Printf("
return -1

}
defer file.Close()
if gsh.CmdTrace { fmt.Printf("

bi 0

var buff = make([]byte 32%1024)

var total int64

var initTime tme Time{}

if sum.Start initTime {
sum.Start = time.Now()

}
for bi = 0; ; bi++ {
count,err := file.Read(buff)
if count <= 0 || err != nil {
break
}
if (sum.SumType & SUM_SUM64) != 0 {
s sum. Sumé64

range buff[0:count] {
= uint64(c)

c

sum.Sumé4 = s

}
if (sum.SumType & SUM_UNIXFILE) != 0

{
sum.Crc32Val = byteCRC32add(sum.Crc32val,buff,uint64 (count))

}
if (sum.SumType & SUM_CRCIEEE)

0 {
sum.Crc32Val = crc32.Update(sum.Crc32Val,&sum.Crc32Table,buff[0:count])

3
// <a href:

—- cksum %v (%v)\n",path,err)

sum*CheckSum) (int64){

- cksum %v %v\n",path,argv) }

">BSD

if (sum.SumType & SUM_SUM16_BSD) != 0
1= sum.Suml6
for _,c := range buff[0:count] {
= (s> 1) + ((s & 1) << 15)

s
s
s
/
sum.Suml6 = s
}
if (sum. SumType & SUM_SUM16_SYSV) != 0 {
for

j < count; bj++ {
sum.Suml6 += int(buff(bj])

}
}
total += int64(count)

sum.Done = time.Now()
sum.Files 1

total
sin("-s",argv) {
fmt.Printf("sv ", total)

}
return 0

<a name="grep">grep</a>

"https://en.wikipedia.orq/wiki/BSD
{

"lines", "lin" or "lnp" for "(text) line processor”

ax, 1Cy o
what "LINE" is should be definable
generic line-by-line processing

grep [-v]
cat -n -v
unig [-c]
tail -f

sed s/x/y/ or awk
grep with line count like wc
rewrite contents if specified

file, err

if err nil
fmt.Printf ("
return -1

©0s.OpenFile(path,0s.0_RDONLY,0)

¥
defer file.Close()

sequentioal combination of patterns

grep v (%v)\n",path,err)

or

FFF!
/fmt. Prlntf(”ESDsum. %d[%d] %d\n",sum.Size+int64(i),i,s)

"scanner"”

if gsh.CmdTrace { fmt.Printf("--I-- grep $v %v\n",path,rexpv) }

//reader

reader

1i :

found := 0

for 1i = 0; ; li++ {
line, err := reader.ReadString('\n')
if len(llne] <=0 {

break

bufio.NewReaderSize(file,80)

}

if 150 < len(line) {
7/ maybe binary
break;

if err !
break

nil {

bufio.NewReaderSize(file, LINESIZE)

if 0 <= strings.Index(string(line),rexpv[0]) {

found +=
fmt.Printf("$s:3d: ®s",path,li,line)
}

//fmt.Printf("total %d lines %s\n",li,p

ath)
//if( 0 < found ){ fmt.Printf("((found %d lmes %s))\n"

return found

<a name="finder">Finder</a>
finding files with it name and contents
file names are ORe

show the content with %x fmt list

1s -R

tar command by adding output

type fileSum struct {

Err inté4 // access error or so
Size int64  // content size

DupSize int64 // content size from hard links
Blocks int64 // number of blocks (of 512 bytes)
DupBlocks int64 // Blocks pointed from hard links

HLinks int64 // hard links

Words  int64

Lines  int64

Files  int64

Dirs  int64 // the num. of directories
SymLink int64

Flats int64 // the num. of flat files

MaxDepth int64
MaxNamlen  int64 // max. name length
nextRepo  time.Time

,found, path) ;

¥

/a>

view-source:http://im3/gsh/gsh-0.8.5.go.html
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}

func showFusage(dir string,fusage *£ilesum){

£loat6d (((fusage.Blocks-fusage.DupBlocks)/2)*1024)/1000000.0
floatéd ((fusage.Blocks/2)*1024)/1000000.0

sume
//bsundup

fmt.Printf("$v: v files (%vd %vs %vh) $.6f MB (%.2f MBK)\n",
T,
fusage.Files,
fusage.Dirs,
fusage.SymLink,
fusage.HLinks
£loat64 (fusage.Size)/1000000.0,bsume);

const (
S_IFMT = 0170000
S_IFCHR 0020000
S_IFDIR 0040000
S_IFREG = 0100000
S_IFLNK 0120000
S_IFSOCK = 0140000

)
func cumFinfo(fsum *fileSum, path string, staterr error, fstat astat_t, argv[]string,verb bool)(*fileSum){
now := time.Now()
if time.Second <= now.Sub(fsum.nextRepo) {
if !fsum.nextRepo.Iszero(){
tstmp := now.Format(time.Stamp)
showFusage (tstmp, fsum)

}
fsum.nextRepo = now.Add(time.Second)

if staterr 1= nil {
fsum.Err += 1
return fsum

fsum.Files += 1
if 1 < fstat.Nlink {
// must count only once...
// at least ignore ones in the same directory
//if finfo.Mode().IsRegular() {
if (fstat.Mode & S_IFMT) == S_IFREG {
fsum.HLinks += 1
fsum.DupBlocks += int64(fstat.Blocks)
//fmt.Printf("---Dup HardLink %v $s\n",fstat.Nlink,path)

}

}

//fsum.Size += finfo.Size()

fsum.Size += fstat.Size

fsum.Blocks += int64 (fstat.Blocks)

//if verb { fmt.Printf("(%8dBlk) ®s",fstat.Blocks/2,path) }

if isin("-1s",argv){

//if verb { fmt.Printf("%4d %8d ", fstat.Blksize,fstat.Blocks) }

/1 fmt.Printf("sd\t",fstat.Blocks/2)

}

//if finfo.IsDir()

if (fstat.Mode & S_IFMT) == S_IFDIR {
fsum.Dirs += 1

}

//if (finfo.Mode() & os.ModeSymlink) != 0

if (fstat.Mode & S_IFMT) == S_IFLNK {
//if verb { fmt.Printf("symlink(%v,%s)\n",fstat.Mode,finfo.Name()) }
/74 fmt. Frlntf(“symllnk(%o 2s)\n", fstat.Mode, finfo.Name()) }
fsum.SymLink +=

}
return fsum

func (qsh*Gshcontext)xxFlndEntv(depth int,total *fileSum,dir string, dstat aStat t, ei int, entv []string,npatv(]string,argv(]string)(*fileSum){
isin("-grep",argv)
// sort entv

1f isin("-t",argv){

sort.slice(filev, func(i,j int) bool
return 0 < filev(i].ModTime(). Sub(fllev[ 1.ModTime())
b
*/
/%
if isin("-u",argv
sort. snce(fuev, func(i,j int) bool
return 0 < filev[i].AccTime(). sub(fuev[ j].AccTime())
1
if isin("-U",argv){
sort.Slice(filev, func(i,j int) bool {
return 0 < filev[i].CreatTime().Sub(filev[j].CreatTime())
}
*/
/%

if isin("-$",argv){

sort.Slice(filev, func(i,j int) bool {
return filev[j].Size() < filev[i].Size()

12

}

*/

for _,filename
or _,npat

range entv {
range npatv {
rue

filepath.Match(npat, filename)

path := dir + DIRSEP + filename
if tmatch {
continue

¥

var fstat aStat_t

staterr := aLstat(path,&fstat)

if staterr != ni
if lisin("-w",argv){fmt.Printf("ufind: %v\n", staterr) }
continue;

}
if isin("-du",argv) && (fstat.Mode & S_IFMT) == S_IFDIR {
// should not show size of directory in "-du" mode
telse
if Inols && lisin("-s",argv) && (!isin("
if isin("-du",argv) {
fmt.Printf("%d\t", fstat.Blocks/2)

du",argv) || isin(

rargv)) {

}
showFileInfo(path,argv)
if true { // && isin("-du",argv)
total = cumFinfo(total,path,staterr,fstat,argv,false)

if isin("-wc",argv) {

if gsh.lastChecksSum.SumType != 0 {
gsh.xCksum(path,argv, &gsh. lastCheckSum) ;

isinX("-grep”,argv); // -grep will be convenient like -ls
if 0 <= x && x+l <= len(argv) { // -grep will be convenient like -1ls
if IsRegFlle(path)(
fo gsh.xGrep(path,argv[x+1:])
2o P “found {
foundv sh.CmdCurrent .FoundFile
if len(foundv) < 10
gsh.CmdCurrent.FoundFile
append (gsh.CmdCurrent. Foundnle,path)

}

}
if tisin("-r0",argv) { // -d 0 in du, -depth n in find
//total.Depth += 1
if (fstat.Mode & S_IFMT) == S_IFLNK {
continue

Y
if dstat.Rdev != fstat.Rdev {
fmt.Printf("--I-- don't follow differnet device %v(%v) %v(%v)\n",
dir,dstat.Rdev,path, fstat.Rdev)

i
if (fstat Mode & S_IFMT) == R {

al = gsh.xxFind(depth+I, total ,path,npatv,argv)
}

}
return total

func (gsh*GshContext)xxFind(depth int,total *fileSum,dir string,npatv(]string,argv[]string)(*£ilesum){
isin("-grep",argv)
dirfile,oerr := os.OpenFile(dir,os.O_RDONLY,0)
if oerr == nil {
//fmt.Printf("--I-- $v(%v)[2d]\n",dir,dirfile,dirfile.Fd())
defer dirfile.Close()
Yelse{
}

prev := *total
var dstat aStat_t
staterr := aLstat(dir,&dstat) // should be flstat

if staterr != nil {
-w",argv){ fmt.Printf("ufind: $v\n",staterr) }
return total
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//filev,err ioutil.ReadDir(dir

//_/err := ioutil.ReadDir(dir) // ReadDir() heavy and bad for huge directory
7%

0 {
total = cumFinfo(total,dir, staterr,dstat,argv,tru

showFileInfo(dir,argv)

}
// it it is not a directory, just scan it and finish

for ei := 0; ; eit+
entv,rderr := dirfile. neaddunames(sqou)
0

if len(entv) || rder:
//if rderr 1= nil { Ent. Prlntf(” %d] len=%d (%v)\n",ei,len(entv),rderr) }
break

if 0 < ei

(
sin("u",argu){ fmt.Printf("ufind: S\n",err) )
a1

e)
ols && !isin("-s" ,argv) && ('lsln("—du ,argv) || isin(

",argv)) {

{
fmt.Printf("--I-- xxFind[%d] %d large-dir: %s\n",ei,len(entv),dir)

total = gsh.xxFindEntv(depth,total,dir,dstat,ei,entv,npatv,argv)

}
if isin("-du",argv) {
// if in "du’ mode

fmt.Printf("$d\tss\n", (total.Blocks-prev.Blocks)/2,dir)

}
return total

}

// (ufmd|fu\1s) [Files] [// Names] [-- Expressions]
Files is "." by default
// Names is "+ by default
// Expressions is "
func (gsh*GshContext)xFind(argv[]string){
if 0 < len(argv) && strBegins(argv([0],"2"){
showFound(gsh,argv)

return
if isin("-cksum",argv) || isin("-sum",argv) {
gsh.lastCheckSum = CheckSum{}

if isin("-sum",argv) && isin("-add",argv) {
gsh.lastCheckSum.SumType |= SUM_SUM64

}else

if isin("-sum",argv) && isin("-size",argv) {
gsh.lastCheckSum.SumType |= SUM_SIZE

}else

if isin("-sum",argv) && isin("-bsd",argv)
gsh.lastCheckSum.SumType |= SUM_SUM16_BSD

Yelse

if isin("-sum",argv) && isin("-sysv",argv)
gsh.lastCheckSum.SumType |= SUM_SUM16_SYSV

Yelse

if isin("-sum",argv)
gsh.lastCheckSum.SumType |= SUM_SUM64

}

if isin("-unix",argv)
gsh.lastCheckSum.SumType |= SUM_UNIXFILE

-print" by default for "ufind", or -du for

vEgt

command

gsh.lastCheckSum.Crc32Table = *crc32.MakeTable (CRC32UNIX)

}
if isin("-ieee",argv)
gsh.lastCheckSum.SumType |= SUM_CRCIEEE

gsh.lastCheckSum.Crc32Table = *crc32.MakeTable(CRC32IEEE)

}
gsh.lastCheckSum.RusgAtStart = Getrusagev()

var total = fileSum{}

npats [1string{}
_,v := range argv

if 0 < len(v) && v[0] != '=' {
npats = append(npats,v)

}

if v == "//" { break }
if v == "-=" { break }
if v " { break }
if v { break }

}
if len(npats) 0 {
npats = []string{"*"}

to be fullpath :
if len(npats)

1 cwd, _ := 05.G
0 { npats = []string{

fusage

if gsh. lastChecksun. SunType
var sumi uint64

sum := &gsh. lastCheckSum
if (sum SumType & SUM_SIZE) != 0 {
mi = uint64(sum.Size)

iR
gsh.xxFind(0,&total, cwd npats,argv)
=0 {

if (sum.SumType & suM | SUM64) 1= 0 {
mé

sumi = sum.

}
if (sum SumType & SUM_SUM16_SYSV)

uint32 (sum. Sum!

r

16

0 {
)

(s & OXFFFF) + ((s & OXFFFFFFFF) >> 16)

12/ 89

s = (r & OXFFFF) + (r >> 16)
sum.Crc32val = uint32(s)
sumi = uint64(s)

}

if (sum.SumType & SUM_SUM16_BSD) != 0 {
sum.Crc32Val = uint32(sum.Suml6)
sumi = uint64(sum.Suml6)

}
if (sum.SumType & SUM_UNIXFILE) != 0 {

sum.Crc32Val = byteCRC32end (sum.Crc32Val,uint64 (sum.Size))
sumi = uint64 (byteCRC32end(sum.Crc32val,uint64 (sum.Size)))

}
if 1 < sum.File:

{
fmt. Prmtf("%v v // v / %v files, %v/file\r\n",

sumi, sum.Size,
abssize(sum.Size), sun.Files,
abssize(sum.Size/sum.Files))
Yelse{
fmt.Printf("sv v fv\n",
sumi, sum.Size,npats[0])

sin("-grep",argv)
showFusage ("total", fusage)

if ,argv){
len(gsh.CmdCurrent.FoundFile)
if 0 < hits
fmt.Printf("--I-- %d files hits // can be refered with !%df\n",
hits,len(gsh.CommandHistory))
}
}
if gsh.lastCheckSum.SumType != 0 {
if isin("-ru",argv) {
sum := &gsh.lastCheckSum
sum.Done = time.Now()
gsh.lastCheckSum.RusgAtEnd = Getrusagev()
elps sum.Done. Sub(sum.Start)
fmt.Printf("--cksum-size: v (%v) / $v files, %v/file\r\n"
sum.Size,abssize(sum.Size),sum.Files,abssize (sum.Size/sum.Files))
nanos int64 (elps)
dnanos time.Duration(nanos);
fmt.Printf("--cksum-time: $v/total, %v/file, %.1f files/s, sv\r\n",
abbtime (dnanos),
abbtime (time.Duration(nanos/sum.Files)),
(float64 (sum.Files)*1000000000.0)/float64 (nanos),
abbspeed (sum.Size,nanos))
diff := RusageSubv(sum.RusgAtEnd,sum.RusgAtStart)
fmt.Printf("--cksum-rusg: sv\n",sRusagef("",argv,diff))
}
return

func showFiles(files[]string){
o v

P
for i,file

}

range files {
if0<i{sp=""})else {sp=""
fmt.Printf(sp+"$s",escapeWhiteSP(file))

}
func_showFound(gshCtx *GshContext, argv[]string){

i,v := range gshCtx.CommandHistory {
if 0 < len(v.FoundFile) {
fmt.Printf("!%d (%d) ",i,len(v.FoundFile))
if isin("-1s",argv){
fmt.Printf("\n")
for _, file nge v.FoundFile {
fmt.Printf("") //sub number?
showFileInfo(file,argv)

}

Yelse{
showFiles(v.FoundFile)
fmt.Printf("\n")

view-source:http://im3/gsh/gsh-0.8.5.go.html
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i
func showMatchFile(filev []os.FileInfo, npat,dir string, argv([]string)(string,bool){
false

range filev {
= filepath.Match(npat, (v.Name()))

if match {
fname
found = true
//fmt.Printf("[%d] $s\n",i,v.Name())
showIfExecutable (fname,dir,argv)

v.Name ()
tr

}
}
return fname,found
func showaExecutableiname,dir string,argv(]string) (ffullpath string, ffound bool){

var fullpath string
if strBeqlns(name DIRSEP){
name

fullpath =

jelse

if( len(dir) 0 )¢
fullpath = name;

yelse{

fullpath = dir + DIRSEP + name

fi, err := os Stat(fullpath)
//tnt. Pnntf( D, %v\"\n-- $v\n",fullpath,err);
1{

if err
.exe";
fi, err = os.Stat(fullpath)

Fullpath

}
if e

rr 1= nil {
fullpath = dir + DIRSEP + name + ".go"
fi, err = os.Stat(fullpath)

if err == nil {
£m £i.Mode ()
if fm.IsRegular() {
//ROKA,WOKZ,XOKI,FOKO
if aAccess(fullpath,5) == nil {
ffullpath = fullpath
ffound = croe,
if 1 isin(" rgv)
showFlleInfo(fullpath argv)

}
}

}
return ffullpath, ffound

}
func which(list string, argv []string) (fullpathv []string, itis bool){
if len(argv) <= 1 {
fmt.Printf("Usage: which comand [-s] [-a] [-1s]\n")
return []string{""}, false
}
path := argv[1]
if strBegins(path,"/") {
// should check if excecutable?
_sex0K := showIfExecutable(path,"/",argv)
Emt.Printf("--D-- %v exOK=$v\n",path,exOK)
return []string{path},exOK

pathenv, efound := os.LookupEnv(list)

if 1 efound {
fmt.Printf(" which: no \"#s\" environment\n",list)
return []string{""}, false

}
//fmt .Printf("PATH=3v\n", pathenv);
showall := isin("-a",argv) || 0 <= strings.Index(path,

dirv strings.Split(pathenv, PATHSEP)
ffound := false
ffullpath

a
range dirv
strings.Index(path,"*") { // by wild-card
115 . ioutil.ReadDir(dir

ffullpath, ffound = showMatchFile(list,path,dir,argv)
Yelse{

ffullpath, ffound = showIfExecutable(path,dir,argv)

for _, dir
it

//if ffound && !isin("-a", argv) {
if ffound && !showall {

break;
}

}
return []string{ffullpath}, ffound

func stripLeadingWSParg(argv(]string) ([]string){

return argv

func xEval(argv []string, nlend bool){
argv = stripLeadingWSParg(argv)

if len(argv)

fmt.Printf("eval [%%format] [Go-expression]\n")

return
pfmt := "sv"
if argv(0][0] EER
pfmt = argv(0]
argv = argv(1:]
}
if len(argv) == 0 {
return
}
gocode := strings.Join(argv," ");

//fmt.Printf("eval [$v] [%v]\n",pfmt,gocode)

fset token.NewFileSet ()

rval, _ := types.Eval(fset,nil,token.NoPos,gocode)
fmt.Printf (pfmt,rval.value)

if nlend { fmt.Printf("\n") }

}
func getval(name string) (found bool, val int) {
/% should expand the name here */
if name == "gsh.pid"
return true, os.Getpid()
Jelse
if name == "gsh.ppid"

{
return true, os.Getppid()

}
return false, 0
¥

func echo(argv []strlnq, nlend bool){
fo ai < len(argv); ait+ {

{
fmt.Frintf(" )i

getval (arg)

{
fmt.Printf("sd",val)
Yelse{
fmt.Printf("$s",arg)
}

}

if nlend {
fmt.Printf("\n");

}

}

func resfile() stnng {
return "gsh.t

//var resF *File

func resmap()
, err s.OpenFile(resfile(), 0s.0_RDWR|os.O_CREATE, os.ModeAppend)

// https //developpaper com/solution-to-golang-bad-file-descriptor-problem/

, err os.OpenFile(resfile(), os.0_RDWR|os.O_CREATE, 0600)
if err il {
fmt. prmtf( refF could not open: $s\n",err)

else
fmt.Printf("refF opened\n")
}

}

// €@2020-0821

func gshscan}\rg(str string,strip int)(argv []string){
var si
var sb 0
var inBracket =
var argl = make([]byte LINESIZE)
var ax = 0
debug

false
for ; si < len(str); si++ {
{

if str[si] 1= ' '
break
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< len(str); si++ {
b <= si {
if debug {

fmt.Printf("--Da- +td 22d-22d %s ... %s\n",

inBracket,sb,si,argl[0:ax],str(siz])

inBracket += 1
if 0 < strip && inBracket <= str

p {
//fmt .Printf("stripLEV $d <= et ,inBracket, strip)

continue

}

< inBracket {
if ch == "}’

inBracket -= 1

if 0 < strip && inBracket < stri

p {
//fmt.Printf("stripLEV %d < %d?\n",inBracket,strip)

continue

}

}
argl{ax] = ch
ax += 1
continue

trisi]
argv = append(argv,string(argl{0:ax]))
if debug {

fmt.Printf("--Da- [$v][$v-%v] %s ... %s\n",
-1+len(argv),sb,si,str(sb:si],string(str(si:]))

si+l
0

continue

[ax] = ch

=1

si{

= append(argv,string(argl[0:ax]))

ebug {

fmt.Printf("--Da- [v][%v-%v] %s ... ®s\n",
-1+len(argv),sb,si,string(argl[0:ax]),string(str(si:]))

{

fmt.Printf("--Da- %d [%s] => [$d]%v\n",strip,str,len(argv),argv)

}

}

sb = si

for ; si
if s
}
if 0
}
if s
}
argl
ax +

if sb <
argy
if d
}

}

if debug

}

return a

}
// should ge

rgv

t stderr (into tmpfile ?) and return

func (gsh*GshContext)Popen(name,mode string)(pin*os.File,pout*os.File,err bool){

/lvar pv
//syscal

xarg
name

s

//pin =
//pout =
pin, pout

var fd u:
if mo

//gs

= [lint{-1,-1}
1.Pipe(pv)

gshScanArg(name, 1)
trings.Join(xarg,"” ")

os.NewFile(uintptr(pv([0]),"StdoutOf-{"+name+"}")
os.NewFile(uintptr(pv([1]),"StdinOf-{"+name+"}")

,_ = os.Pipe();

1 // read from the stdout of the process

o
= 0 // write to the stdin of the process

gsh.gshPA
gshPA.Files[fdix]

1ntptr =0

LFd()
hPA.Files[fdix] = pout Fd()

gshPA.Files[fdix] = pout

yelse(
/7

//gs!
gshp.

// sl
if £

gsh.
gsh.
gsh.

gshPA.Fi.
return p:

¥

/